

**Vermilion Livestock Exchang**  
 Wednesday, February 25, 2026 -- 09:00 AM  
 Pre-Sort

This is a live broadcast of a pre-sort sale out of Vermilion Livestock Exchange. For more information call Jeannie at (780) 554-4939

Seq#	Lot#	Pen#	Head#	Sex	Breed	Avg. Wt.	Total Wt.	Consignor
1	1	N-1C	11	STRS	TAN	545	6000	
2	2	N-1D	5	STRS	TAN	612	3058	
3	3	D-7	4	STRS	TAN	670	2678	
4	4	D-6	5	STRS	TAN	724	3620	
5	5	D-48	6	STRS	TAN	794	4761	
6	6	D-49	3	STRS	TAN	835	2505	
7	7	D-50	4	STRS	TAN	932	3730	
8	8	D-5	7	STRS	TAN	977	6841	
9	9	D-5A	4	STRS	TAN	1080	4318	
10	10	10-8	20	STRS	TAN	659	13180	ROMANIUK
11	11	10-4	21	STRS	TAN	741	15566	ROMANIUK
12	12	10-6	13	STRS	TAN	848	11029	ROMANIUK
13	13	9-10	6	STRS	TAN	656	3937	MYSHAK
14	14	9-8	4	STRS	TAN	744	2976	MYSHAK
15	15	9-4	8	STRS	TAN	879	7033	MYSHAK
16	16	EP3B	19	STRS	TAN	982	18653	PAWLOW
17	17	EP3F	24	STRS	TAN	1126	27024	PAWLOW
18	18	9-7	8	STRS	TAN	609	4874	TKACHUK
19	19	9-11	14	STRS	TAN	732	10251	TKACHUK
20	20	D-5B	5	STRS	WHT	655	3274	
21	21	D-4	1	STRS	WHT	811	811	
22	22	D-4A	2	STRS	CHAR	716	1432	
23	23	D-3	2	STRS	SMOK	538	1077	
24	24	D-3A	4	STRS	SMOK	768	3070	
25	25	D-3B	6	STRS	EXOT	432	2590	
26	26	D-2	16	STRS	EXOT	487	7798	
27	27	4-10	27	STRS	EXOT	558	15068	
28	28	5-3	9	STRS	EXOT	615	5534	
29	29	5-5	7	STRS	EXOT	680	4760	
30	30	5-7	15	STRS	EXOT	726	10891	
31	31	5-9	12	STRS	EXOT	780	9361	
32	32	5-11	14	STRS	EXOT	844	11821	
33	33	4-4	14	STRS	EXOT	905	12675	
34	34	4-6	19	STRS	EXOT	993	18873	
35	35	4-8	8	STRS	EXOT	1123	8983	
36	36	10-2	7	STRS	EXOT	667	4671	ROMANIUK
37	37	9-5	16	STRS	EXOT	764	12231	ROMANIUK
38	38	9-2	7	STRS	EXOT	871	6098	ROMANIUK

39	39	FP2	19	STRS	EXOT	736	13976	TKACHUK
40	40	D-2B	1	STRS	RED	758	758	
41	41	D-1A	5	STRS	SIMM	543	2717	
42	42	D-1D	4	STRS	SIMM	605	2420	
43	43	D-44	5	STRS	SIMM	662	3310	
44	44	D-45	6	STRS	SIMM	701	4204	
45	45	D-46	3	STRS	SIMM	842	2526	
46	46	4-12	11	STRS	BLEX	600	6603	
47	47	5-8	12	STRS	BLEX	663	7961	
48	48	5-10	11	STRS	BLEX	723	7955	
49	49	5-12	12	STRS	BLEX	784	9407	
50	50	5-14	8	STRS	BLEX	861	6891	
51	51	5-16	18	STRS	BLEX	914	16453	
52	52	D-1	7	STRS	BLEX	985	6893	
53	53	D-47	2	STRS	BLK	566	1133	
54	54	D-36	6	STRS	BLK	650	3900	
55	55	11-5	18	STRS	BLK	649	11684	ROMANIUK
56	56	11-2	49	STRS	BLK	785	38446	ROMANIUK
57	57	9-3	36	STRS	BLK	711	25580	OLDENBURG
58	58	9-1	76	STRS	BLK	815	61920	OLDENBURG
59	59	D-37	2	STRS	BRIT	512	1023	
60	60	D-38	2	STRS	BRIT	587	1174	
61	61	D-39	4	STRS	BRIT	650	2598	
62	62	B-17	2	STRS	BRIT	708	1417	
63	63	B-18	4	STRS	BRIT	788	3150	
64	64	B-19	2	STRS	BRIT	864	1727	
65	65	D-32	4	STRS	BRIT	962	3850	
66	66	D-33	2	STRS	EXOT	518	1036	
67	67	D-34	4	STRS	EXOT	618	2472	
68	68	D-35	6	STRS	EXOT	719	4313	
69	69	B-14	6	STRS	EXOT	809	4853	
70	70	B-15	4	STRS	EXOT	880	3520	
71	71	B-16	4	STRS	NORT	570	2280	
72	72	D-28	3	STRS	NORT	717	2152	
73	73	D-29	3	STRS	NORT	787	2360	
74	74	D-30	1	STRS	NORT	941	941	
75	75	D-31	1	STRS	LATE	595	595	
76	76	B-11	2	STRS	LATE	695	1390	
77	77	B-12	2	STRS	LATE	786	1573	
78	78	B-13	1	STRS	LATE	846	846	
79	79	D-24	2	STRS	SPEC	588	1176	
80	80	D-25	1	STRS	SPEC	657	657	
81	81	D-26	3	STRS	SHOR	705	2114	

82	82	D-27	1	STRS	SHOR	850	850	
83	83	B-8	4	STRS	SHOR	982	3928	
84	84	B-9	1	STRS	WEST	672	672	
85	85	B-10	4	BULL	EXOT	458	1830	
86	86	D-20	2	BULL	EXOT	618	1235	
87	87	D-21	2	BULL	EXOT	696	1392	
88	88	D-22	1	BULL	EXOT	768	768	
89	89	D-23	1	BULL	EXOT	1007	1007	
90	90	B-4	7	STRS	TINY	375	2624	
91	91	B-3	2	STRS	STAG	658	1315	
92	92	B-7	2	STRS	STAG	792	1583	
93	93	B-6	2	STRS	STAG	848	1695	
94	94	B-5	1	STRS	BABY	277	277	
95	95	1-4	6	HFRS	TAN	548	3287	
96	96	EP4F	22	HFRS	TAN	633	13929	
97	97	EP5F	15	HFRS	TAN	702	10531	
98	98	EP5B	18	HFRS	TAN	782	14077	
99	99	1-5	10	HFRS	TAN	877	8770	
100	100	1-5A	14	HFRS	TAN	469	6567	LOVELL
101	101	1-5B	12	HFRS	TAN	538	6458	LOVELL
102	102	2-3	1	HFRS	TAN	465	465	MYSHAK
103	103	1-6	6	HFRS	TAN	922	5534	PAWLOW
104	104	EP2F	24	HFRS	TAN	1020	24480	PAWLOW
105	105	2-5	2	HFRS	WHT	794	1588	
106	106	1-8	5	HFRS	WHT	529	2646	MYSHAK
107	107	2-7	3	HFRS	WHT	632	1895	MYSHAK
108	108	1-10	4	HFRS	CHAR	486	1945	
109	109	2-9	4	HFRS	CHAR	564	2256	
110	110	1-12	2	HFRS	SMOK	472	943	
111	111	2-11	5	HFRS	SMOK	565	2827	
112	112	EP7F	21	HFRS	SMOK	653	13720	
113	113	EP7B	27	HFRS	SMOK	745	20115	
114	114	1-7	13	HFRS	SMOK	841	10930	
115	115	1-14	9	HFRS	EXOT	413	3721	
116	116	EP8F	18	HFRS	EXOT	496	8923	
117	117	EP6F	18	HFRS	EXOT	580	10434	
118	118	1-7A	14	HFRS	EXOT	646	9040	
119	119	FP6	27	HFRS	EXOT	720	19432	
120	120	EP8B	34	HFRS	EXOT	807	27423	
121	121	1-7B	9	HFRS	EXOT	883	7950	
122	122	2-13	3	HFRS	EXOT	422	1266	LOVELL
123	123	1-16	4	HFRS	EXOT	536	2145	LOVELL
124	124	EP6B	19	HFRS	BIG	985	18721	

125	125	2-15	2	HFRS	BIG	1186	2371	
126	126	1-18	1	HFRS	RED	570	570	
127	127	2-17	2	HFRS	SIMM	476	951	
128	128	1-20	3	HFRS	SIMM	580	1741	
129	129	2-19	3	HFRS	SIMM	639	1918	
130	130	1-22	6	HFRS	SIMM	707	4243	
131	131	2-21	7	HFRS	SIMM	820	5743	
132	132	1-24	8	HFRS	BLK	427	3418	
133	133	1-9	13	HFRS	BLK	490	6376	
134	134	1-9A	15	HFRS	BLK	568	8518	
135	135	EP4B	44	HFRS	BLK	639	28107	
136	136	EP2B	37	HFRS	BLK	707	26162	
137	137	1-9B	18	HFRS	BLK	794	14297	
138	138	1-11	20	HFRS	BLK	521	10416	MIXBURN
139	139	FP8	21	HFRS	BLK	623	13080	MIXBURN
140	140	2-23	3	HFRS	BLEX	568	1704	
141	141	1-26	8	HFRS	BLEX	642	5139	
142	142	2-25	8	HFRS	BLEX	716	5728	
143	143	111A	15	HFRS	BLEX	798	11977	
144	144	1-28	6	HFRS	BLEX	902	5409	
145	145	2-27	5	HFRS	BLK	755	3775	REPLACEMENT
146	146	1-30	2	HFRS	BBF	758	1517	REPLACEMENT
147	147	2-29	4	HFRS	REDX	799	3196	REPLACEMENT
148	148	1-32	7	HFRS	RED	809	5666	REPLACEMENT
149	149	2-31	6	HFRS	BRIT	411	2464	
150	150	1-34	4	HFRS	BRIT	497	1988	
151	151	2-33	7	HFRS	BRIT	576	4029	
152	152	1-B6	3	HFRS	BRIT	701	2103	
153	153	2-35	4	HFRS	BRIT	787	3149	
154	154	111B	16	HFRS	BRIT	524	8381	MIXBURN
155	155	1-13	10	HFRS	BRIT	603	6027	MIXBURN
156	156	1-38	3	HFRS	RWF	728	2184	
157	157	2-37	1	HFRS	EXOT	420	420	
158	158	2-10	2	HFRS	EXOT	492	985	
159	159	3-9	3	HFRS	EXOT	571	1714	
160	160	113A	10	HFRS	EXOT	750	7502	
161	161	2-12	1	HFRS	SPEC	578	578	
162	162	3-11	1	HFRS	SPEC	673	673	
163	163	2-14	2	HFRS	SPEC	800	1599	
164	164	3-13	2	HFRS	NORT	442	885	
165	165	2-16	6	HFRS	NORT	593	3559	
166	166	3-15	8	HFRS	NORT	673	5383	
167	167	113B	13	HFRS	NORT	804	10449	

168	168	2-20	1	HFRS	SHOR	545	545	
169	169	3-19	1	HFRS	SHOR	762	762	
170	170	2-18	1	HFRS	SHOR	952	952	
171	171	2-22	1	HFRS	WEST	502	502	
172	172	2-4	5	HFRS	TINY	329	1647	
<b>Total Head: 1519</b>								